
wgXZwg w ∗
−
g = ww + 0 · w ∗

∼
g

1 − wg
Y[

∗
wgXZ = 1 −

−1

a + wc
Y [

b + wd
Y [

∗

−1

a + wc
Y [

b + wd
Y [

X Z

= 1 −
−1

a + wc
Y [

b + wd
Y [

∗
b + wd
X Z −∗

a + wc
X Z

=
−1

a + wc
X Z

= 1− w ∗w

a + wc
Y [ ∗

a + wc
Y [

− b + wd
Y [ ∗

b + wd
Y [

X Z −∗
a + wc
X Z

=
−1

a + wc
X Z

= 1

a∗a − b
∗
b

Y [
+ w

= 0

c∗a − d
∗
b

Y [
+

= 0

a∗c − b
∗
d

Y [

∗w + w
= −1

c∗c − d
∗
d

Y [

∗w
X Z −∗

a + wc
X Z

=
−1

a + wc
X Z

1 − w ∗w
Y [

−∗
a + wc
X Z

wgXZwg
=

−1

1 − wg
Y[

∗
wgXZ

X Z

wg =
∗

a + wc
X Z

−1

1 − w ∗w
X Z

a + wc
X Z

−1

a + wc
X Z

b + wd
X Z

=
∗

a + wc
X Z

−1

1 − w ∗w
X Z

b + wd
X Z

wgXZwg w ∗
−
g =

−∗
a + wc
X Z

∗
a + wc
X Z

−1

1 − w ∗w
X Z

b + wd
X Z ∗

d −
∗

b + wd
X Z −∗

a + wc
X Z∗c

Y [

=
−1

1 − w ∗w
X Z

b + wd
X Z∗

d − b + wd
X Z

∗
b + wd
X Z −∗

a + wc
X Z∗c

Y [
=

−1

1 − w ∗w
X Z

w + a + wc
X Z∗c − b + wd

X Z
∗

b + wd
X Z −∗

a + wc
X Z∗c

Y [

= ww
−1

1 − w ∗w
X Z

= 1− w ∗w

a + wc
X Z

∗
a + wc
X Z− b + wd

X Z
∗

b + wd
X Z

Y [

= 0 · w∗
∼
g

−∗
a + wc
X Z∗c︸ ︷︷ ︸

z
a b
c d

=
−1

a + zc
Y [

b + zd
Y [

z D a b
c d

= b + zd − az − zcz

γ =
a b
c d

γ∗ =
a∗ c∗

b
∗

d
∗

0 · γ∗ = c∗ = 0 � c = 0

γ =
a b
0 d

w z

−
γ = wd − aw = w

a 0
0 d



z

−
γ∗ =

a∗ 0

0 d
∗ � k

C
+


